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From among the four options given. choose the one which 1z a grammatically correct pair of
sentences,

(1) ‘Every family have a story. welcoming to ours’. These were the word inscribe on gold
in the sleeve of a big. black photo album that Ananya 1s hold in her hand.

(2) ‘Every families has a story. welcome 1n ours’. This were the words inscribed with gold
on the sleeves of a big. black photo album that Ananyva will be holding by her hand.

(3) ‘Every family had a stories. welcome to our’. These were a words inscribed in golden
on the sleeve of a big. black photo album that Ananya was hold 1n her hand.

(4) ‘Every family has a story. welcome to ours’. These were the words inscribed 1n gold on
the sleeve of a big. black photo album that Ananyva was holding in her hand.

1) 1
(2) 2
(3) 3
(4) 4
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1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11101]
2[Option ID=11102]

3[Option ID=11103]
4[Option ID=11104]

Sl. No.2
QBID:1007152

Which of the following 1= a one-word substitute for ‘hard but liable to break™

(1) Brittle (2) Frail
(3) Tenuous (4) DMortal
(1) 1
(2) 2
(3) 3

(4) 4




1 @ W
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(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11105]
2[Option ID=11106]

3[Option ID=11107]
4[Option ID=11108]

SI. No.3
QBID:1007153

“Because of bad weather the mountaineers are in a quandary.”
From the following options pick the correct syvnonym of the word in italics.
(1) Quiet (2) Panicked

(3) Anxiety (4) Dilemma

1 1
(2) 2
(3) 3
(4) 4

(Iy =M (2) FUEH
(3)  AteE (4) GUgH

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11109]
2[Option ID=11110]

3[Option ID=11111]
4[Option ID=11112]

Sl. No.4
QBID:1007154

Which tense 1s used for habitual actions?

(1) Present progressive (2) Simple present

(3) Prezent perfect (4) Present perfect progressive
1) 1

2) 2

3) 3




(4) 4

Fr=fetfiaa o @ wg 3t == s g9

(1)  ZFpramER (2)  TTFEVIHT
(3)  TEEEIEE (4) FTIFHivT
(1) 1
2) 2
(3) 3
(4) 4

1[Option ID=11113]
2[Option ID=11114]
3[Option ID=11115]
4[Option ID=11116]

Sl. No.5
QBID:1007155

Match List T with List I1.

ListI List IT
(Word) (antonym)
(A) tardy (I)  warm
(B} validate (II) mnervous
(C) tepad (IIT) refute
(D)  unruffled (IV) prompt

Choose the correct answer from the options given below :

(1) (A)-(III). (B)-(IV). (C)-(I). (D)-(II)
(2) (A)-(TV). (B)-(IL). (Cy-(D). (D)-(IIT)
(3) (A)-(IIT). (B)-(IV). (C)-(I). (Dy-(I)
(4) (A)-(IV). (B)-(IIL). (C)-(I). (D)-(1I)

1 1
(2) 2
(3) 3
(4) 4
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(A). (B). (O). (B). D)
(A). (B). (D), (E), (C)
(B). (O). (E). D). (&)
(C). (D). (B). (A). (E)

1[Option ID=11117]
2[Option ID=11118]
3[Option ID=11119]
4[Option ID=11120]

Sl. No.6

QBID:1007156

Pick out the correctly spelt word

(1)
(3
(1) 1
(2) 2
3) 3
(4) 4

prenunciation (2)

prunniciation (4)

pronanclation

pronunciation
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1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11121]
2[Option ID=11122]

3[Option ID=11123]
4[Option ID=11124]

Sl. No.7
QBID:1007157

From among the four options given. choose the most appropriate sequence for the four
phrases given below. to make a meaningful sentence

(A) by chance

(B) the occurrence of something pleasant
(C) that happens unexpectedly or
(D)  the word serendipity means

Choose the correct answer from the options given below :

(1) (C). (A). (B). (D)
(2) (B). (D). (&), (C)
(3) (D). (B). (C). (A)
(4) (A). (C). (D). (B)

(1)
(2)
(3)
(4)

A W N R




frefertaa 4 @ 21 gg T fafea fifw
(A) R A d el 5 2

(B) T T H w2

(C) il 991 § =Tedt Wt 2

(D) ©F T T =vH w331 e

(E) o T T 99H HT I31 7|
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(1) &t (A) 3 (B)
(2) & (C) R (E)
(3) A (A) 3 D)
(4)  F== (B) 3R (D)

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11125]
2[Option ID=11126]

3[Option ID=11127]
4[Option ID=11128]

Sl. No.8
QBID:1007158

Identify the correct form of indirect speech of the following sentence.
The magistrate said to the lawyer. “You should submit your evidence now”.
(1) The magistrate asked the lawyer to submit his evidence then.

(2) The magistrate told the lawver that he should submit his evidence then.

(3) The magistrate told the lawyer that he must submit his evidence now.
(4) The lawyer requested the magistrate to submit his evidence then.

(1) 1

(2) 2

(3) 3

(4) 4
(1) =l (2) oEH

(3) FEW (4 fog




(1)
(2)
(3)
(4)

A W N R

1[Option ID=11129]
2[Option ID=11130]
3[Option ID=11131]
4[Option ID=11132]

Sl. No.9
QBID:1007159

Choose the correct option to make a meaningful sentence.

Ashok did not that his friends would desert him when he would need them the
most.
(1) Assent (2) Accept
i(3) Except {(4) Expect
(1) 1
(2) 2
(3) 3
4) 4
TH1-1 % @y geit-11 =1 e it
-1 HT-TI
bl =
(A == (D =3
(B) = (I)  T=hrEm
(C) =T=m (IIT)
(D) e (IV) =amEa

4= feu o T 4 9 98 3 = 999 Fifee

(1)  (A)-ID). (B)-I). (C)-IV). (D)-(I)
(2)  (A)-IV), (B)-(IID), (C)-(D), (D)-(IL)
(3)  A-D. B-ID. (O)-ID). (D)-(IV)
(4)  (A)-ID. (B)-(D. (C)-IV). (D)-(IID

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11133]
2[Option ID=11134]

3[Option ID=11135]
4[Option ID=11136]

Sl. No.10
QBID:1007160




Choose the correct passive voice of the following sentence.
People sav that children are afraid of ghosts.
(1) It has been said that children are afraid of ghosts.
(2) It 1s believed that children are afraid of ghosts.
(3) It 1s often said ghosts are afraid of children.
(4) It 1s said that children are afraid of ghosts.

(1) 1

(2) 2

(3) 3

(4) 4
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() &= (A), (B) 3R (B)
(2)  =a (B). (C) 31 (D)
(3) == (A), (C) 31 (D)
@  Faa (A). (D) 3 (E)

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=11137]
2[Option ID=11138]

3[Option ID=11139]
4[Option ID=11140]

Sl. No.11
QBID:1007161

What was the name of the constituency wherefrom Jawaharlal Nehru won Lok Shabha
election thrice?

(1) Allahabad (2)  Raebarel
(3) Phulpur (4) Barabanki
(1) 1
(2) 2
3) 3

(4) 4
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(1) ATETEIG (2) TR
(3)  FEU (4) SETE
1) 1
2) 2
(3) 3
(4) 4

1[Option ID=11141]
2[Option ID=11142]
3[Option ID=11143]
4[Option ID=11144]

Sl. No.12
QBID:1007162

The National Achievement Survey (NAS) in its 2021 survey stated that the national mean
score in English has :
(1) 1mmproved by 24 marks
(2) decreased by 56 marks
(3) has remained the same as that of the previous yvear
(4) mmproved marginally
(1) 1
(2) 2

(3) 3
(4) 4

T IR TEAT (TUUE, ) F S0 2021 HA49 § Sqrd 6 AU § T8 675 e -

(1) 24 3% 9 §g 70 2 (2) 56 37F =2 T 2|
(3)  Tuss a4 % =9H F 2 (4) ==t wel 2

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11145]
2[Option ID=11146]
3[Option ID=11147]
4[Option ID=11148]

Sl. No.13
QBID:1007163

Swedish film director Ruben Ostlund won Palme d'Or for his film titled :

(1) The Triangular Mountain (2) Triangle in Square

(3) Triangle of Sadness (4) Triangle of Joy




(1) 1
(2) 2
3) 3
(4) 4

w5 = Ten Feers =64 a8 A w1 E 50 & fov am 3 1 (Palmed or) TR St 7

(1) 7 ZEUSER JTE2H (2) ZTEUTS 39 TEhER
(3)  EEU TE HsH (4) IO I A7
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11149]
2[Option ID=11150]
3[Option ID=11151]
4[Option ID=11152]

Sl. No.14
QBID:1007164

What 1= done to mask an Aadhaar Number?

(1) Replace the first four and the last four digits with characters.
(2) Replace the last eight digits with characters.

(3) Replace the first eight digits with characters.

(4) Replace the six middle digits with characters.

1 1
(2) 2
3) 3
(4) 4

AR WA T3H # fo T s 27

(L o =R AN HAfAH =W 36 F AE0 ° e e SE 2|
(2) A=\ 775 7 B A W AGEATT 5 S R

(3) RS W3 TRl H Al ° Aiceniua # T S 7

(4) TS T TR B AG H wleenia = o = e 2

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11153]
2[Option ID=11154]




3[Option ID=11155]
4[Option ID=11156]

Sl. No.15
QBID:1007165

Which organization has won Nobel Prize three times?

(1) European Union
(2) International Red Cross Society
(3) United Nations

(4) National Dialogue Quartet

(1) 1
(2) 2
(3) 3
(4) 4

(1) 7 ==

(2) AU 13 FE AEEA
(3)  =EW Ty

(4) A =g 996

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11157]
2[Option ID=11158]

3[Option ID=11159]
4[Option ID=11160]

Sl. No.16
QBID:1007166

Film Directors work hard and get exhausted. Prakash hates exhaustion and hence. Prakash
does not want to be a film director.

Which one of the following has the opposite logic?
(1) People who go for walk are healthv. I do not want to go for walk and I am not healthy.

(2) Politicians are generally talkative. but I am not so. though I am a politician. not by my
choice.
(3) A Soldier’s Iife 1s full of dangers. but military 1s never short of manpower.

(4) There 1= no substitute for hard work.

1 1




(2) 2
(3) 3
(4) 4
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1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11161]
2[Option ID=11162]

3[Option ID=11163]
4[Option ID=11164]

Sl. No.17
QBID:1007167

A man walks 6 km towards the North. then turns towards his left and walks for 4 km. He

again turns left and walks for 6 km. At this point he turns to his right and walks for 6 km.
How many km and in what direction is he from starting point?

(1) 10 km and West (2) 6 km and South
(3) 4 km and South (4) 8km and West

(1)
(2)
(3)
(4)

A W N R

TF A I I AR 6 TR T 7| 36 A 97 WG AR o 4 [ = 2| 9% T ow ae gear 2
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(1) 10 f=edt 31 9fg=m (2) 6 Tt 31T sfam
(3) 4 Tl 3T miEm (4) 8 Tt =ik wfr=m
(1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=11165]
2[Option ID=11166]
3[Option ID=11167]
4[Option ID=11168]

Sl. No.18
QBID:1007168

A B.C.D. E. F and G are sitting in a line facing the East. C 1s the immediate rmght of D. B 1s
at an extreme end and has E as his neighbor. G 1z between E and F. D 1s sitting third from
the South end. Who are the persons sitting at the extreme ends?

{1 Aand E 2y AandB
(3 Fand B (4) CandD
(1)
(2)

(3)
(4)

A W N R

A B.C.D.E.F 3R G T & fgon @ 4z %% % U+ 4 92 7| D % 953 aited C 21 B v% s3f=m fr
T 2 3 E S8 tsEl 2| E 38 F % &= 83 G 2| D gianl 8§ 96 =@ 7 s 2| Ay T w FE

(1) A3mE (2) A=RB
(3) F 3B (4 CamD

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11169]
2[Option ID=11170]

3[Option ID=11171]
4[Option ID=11172]

Sl. No.19
QBID:1007169

In the question statement and assumptions are given. Consider the statement and choose the
correct option on the basis of the assumptions.

Statement : The budget of Transport Corporation 1s in deficit. The Corporation has decided
to increase the ticket rates for travel.

Assumptions : (1) The travel rates are very low.

(11) If the travel rates are not increaszed. deficit cannot bhe met.

(1) Only assumption (1) 1s 1mplicit.
(2) Only assumption (1) 1s implicit.
(3) Both assumptions (1) and (11) are implicit.
(4) Neither assumption (1) nor (1) 1s implicit.




) 2
3) 3
(4) 4

T8 WA § aed 3 qE-guene 4 52 3| 9 T e w0 g -awns F anan w w8 fawen w1 o=
it
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TE-UTO © () AT A AEd A A
(i) =T AE-=0 A Jhg FA i S, G e @ A A wew

(1) &= TE-9F (1) # 711 2

(2) e TE-GROT (i) B AT 2

(3) Tl TE-"mem (1) R (1) FE-TE A

(4) A A FE-EE () # A F () -t
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=11173]
2[Option ID=11174]
3[Option ID=11175]
4[Option ID=11176]

Sl. No.20
QBID:1007170

Ram said to Ashok that the woman standing in front of him has a grand daughter who 1s the
only daughter of my brother. How 1z woman related to Ram?

(1) Aunt 2y  Mother

(3) Wife {(4) Grand Mother
(1) 1

(2) 2

3) 3
(4) 4

9 4 SUF H FEl 7% I°F 9 WSl GlEeT i UF Odl 2 1 0 9IS Fl sherdl 8920 2| 39 Hieel & 19 °
1 Ty 27

(1) == (2) =i
(3) U= (4) =ml
1) 1
(2) 2

3) 3




(4) 4

1[Option ID=11177]
2[Option ID=11178]
3[Option ID=11179]
4[Option ID=11180]

Sl. No.21
QBID:1007171

A tube can fill a tank completely 1n 18 hours. After half the tank 1s filled. one more similar
tube 1s opened. What 1s the total time taken to fill the tank completely?
(1) 13 hrs 10 min (2) 14 hrs 30 mun
(3) 14 hrs 20 min (4 13 hre 30 min
(1) 1
(2) 2
(3) 3
(4) 4

TF Tl W o W YAd: 18 H2l 0 W WEAl 2| 2% ® AGN W W % I7EE, T SO 6 A A g
%t T I T WA T Fe A6 e R

(1) 1392 10 T (2) 14 =2 30 T2

(3) 1492 20 To1e (4) 13 =2 30 T2

(1)
(2)

(3)
(4)

A W N =

1[Option ID=11181]
2[Option ID=11182]
3[Option ID=11183]
4[Option ID=11184]

Sl. No.22
QBID:1007172

Seven girls can do a piece of work in thirteen days. six boys can do the same piece of work in
twelve days. nine men can do the same piece of work in nine days and six women can do the
same piece of work in fourteen days. Who are the most efficient?

(1) Girls {2y Women
(3 Men {(4) Boys
1) 1

(2) 2

(3) 3

(4) 4
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i

FAdamenEam sH s AFA i awdl 2| FH OaE 2 27

(1) === (2) TlEam
(3 T (4) =5*
1) 1

(2) 2

3) 3

(4) 4

1[Option ID=11185]
2[Option ID=11186]
3[Option ID=11187]
4[Option ID=11188]

Sl. No.23
QBID:1007173

A man and a boy received Rs. 1.600 as wages for 5 davs for the work they did together. The
man's efficiency in the work was three times that of the boy. What are the daily wages of the
bov?

(1) Rs. 152 (2) Rs.112
(3) Rs. 88 (4) Rs. 80

(1)
(2)
(3)
(4)

A W N =

UF AR AU UF WS UF WY 5 {59 T F 60 ge €. 1,600 T 2| SAE @40 @9F 9 o1 T

(1) %, 152 (Z) % 117

ot
1

3 (4) . 80

(]

(3 =z,

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11189]
2[Option ID=11190]

3[Option ID=11191]
4[Option ID=11192]

Sl. No.24
QBID:1007174




How many kg of rice at Rs. 60 per kg. must be mixed with 30 kg of rice at Rs. 25 per kg. =0
that the shopkeeper mayv make a gain 25% on selling the mixture at Rs. 50 per kg?

(1) 22.5kg (2) 235kg
(3) 24kg (4) 245kg
(1) 1
(2) 2

(3) 3
(4) 4

30 T, == ®. 25 WAL 91 30 B Sl % WY 5 60 T ae el e 9Ee meE °
TS THYT Hl %, 50 U9 Tl &= 9 25% =1 o9 & 506 7

(1)  22.5 f&m (2)  23.5 T
rg

[ ]

(3) 4 1= (4) 24.5 T
1) 1

2) 2

(3) 3

(4) 4

1[Option ID=11193]

2[Option ID=11194]

3[Option ID=11195]
4[Option ID=11196]

Sl. No.25
QBID:1007175

A sample of X litres from a container having a 60 hitre mixture of milk and water containing
milk and water in the ratio of 2 : 3 1s replaced with pure milk so that the container will have
milk and water 1s equal proportions. What 1s the value of X7

(1) 6 Litre (2) 10 litre
(3) 30 litre (4) 12 litre

(1) 1
(2) 2
3) 3
(4) 4

U A A 2 03 % 3Wa A FiSE g9 @ O % 60 e Wam § ¥ X e # v T, 95 39 ° wed
T2 T A A H g9 a9 T SEE S9E | 71 X # 5E AT

(1) 6 =2t (2) 10 ==
(3) 30 =i 4) 12 ==
(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=11197]
2[Option ID=11198]
3[Option ID=11199]
4[Option ID=11200]

Sl. No.26
QBID:1058001

The 2's complement of 1111001 {(Binary number) is

(1) 0000110 (2) 1111100
() 0000100 (4) 0000111

1) 1
(2) 2
(3) 3
(4) 4

1111001 (ST &) * 2 #1 O &

(1) 0000110 (2) 1111100
() 0000100 (4) 0000111

(11
(2) 2
(3) 3
(4) 4
1[Option ID=10801]
2[Option ID=10802]

3[Option ID=10803]
4[Option ID=10804]

Sl. No.27
QBID:1058002

Which of the following is not a function of bootstrap program?
(1) Initializing the CPU

(2) Initializing the memory content

(3) Loading the operating system

(4) Loading the compiler

(1)
(2)
3)
(4)

fafafas & & = @1 2=y Siom =1 w6 775 87

A W N =

(1) Hidg sA A

(2)  HAHT Tz HAW F

(3)  sfifen fwem & =

(4)  HheTh (HHEER) I IS FAT
(1) 1

(2) 2
(3) 3




(4) 4

1[Option ID=10805]
2[Option ID=10806]
3[Option ID=10807]
4[Option ID=10808]

Sl. No.28
QBID:1058003

The time complexity of the following function is (assume n = 0)

nt recursive (int n)
fif(n==1)
return (1);

else return (recursive (n — 1) + recursive (n — 1));

(1) Oi(n) (2) O{n log n)

(3) 0(n") (4) oz

(1)
(2)
(3)
(4)

A W N R

TeitFa T F1 THF Az 2 (FEEEE: n>0))

= Tlea (32 n)

[afe(n==1)

afaFa (fz) (1)

Al Tiawe (veg fed) (=) (n— 1) + g (n - 1)

1

5

(1) O(n) (2) O(nlogn)
3  Oom) 4 oM
1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=10809]
2[Option ID=10810]
3[Option ID=10811]
4[Option ID=10812]

Sl. No.29
QBID:1058004

Which one of the following file allocation strategy is used by UNIX operating system?

(1) Contiguous allocation (2) Linked allocation

(3) Indexed allocation {4) Sequential allocation

1) 1




(2)

2

(3) 3
(4) 4

o~

44

(1)
(3)

(1)
(2)
(3)

1
2
3

(4) 4

(UNIX) #fifen famen gm v w5 Faed 3w &6 =t 27
TEw e (2) ZaEtEd FET
TFFI G A (4) FHFF A

1[Option ID=10813]
2[Option ID=10814]
3[Option ID=10815]
4[Option ID=10816]

Sl. No.30

QBID:1058005

Given below are two statements : One is labelled as Assertion A and the other i1s labelled as

Reason R.

Assertion (A) :  In round-Robin process scheduling algorithm, the time-quantum plays an
important role.

Reason (R) : The performance of round-robin algorithm depends on the size of the time-

quantum.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1)
(2)
(3)
(4)
(1)
(2)
(3)
(4)

A W N R

Both (A) and (R) are correct and (R) is the correct explanation of (A)
Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(A) 15 correct but (R) is not correct

(A) is not correct but (R) is correct




FECH

ATF (A) :

=+ (R) :

B S RARC o E IR G 1 S o s | Fh e e (Assertion (A)) * =9 1 &hEa = ASLY =% = (Reason (R))

IS -9 W9 STTH= TS H, 20320 Hery0l s [H9me 2|

TES - TR 1 HO0eA 2IEH-H2H = ATHR T 9 5T 2

IHI FUA F AT H, 49 50 T ol 3 9 geE 3ugt 39 # =9 wii

(1)  (A) 33 (R) 51 981 2 31 (R), (A) Fi 981 == 2

(2)  (A) 31 (R) =F1 981 2, &7 (R), (A) Fi o8 == 751 2

(3)  (A)TA 7, o (R) T8 T8 7
4) (A TE T, @A (R) T 2

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=10817]
2[Option ID=10818]

3[Option ID=10819]
4[Option ID=10820]

Sl. No.31
QBID:1058006

A high paging rate

(1) may cause high I/O rate

(2) keeps the system well running
(3) is a symptom of too much processor activity
(4) always creates a slow system

(1) 1

(2) 2

3) 3

(4) 4

I g8 o

(1) 3= VO = F1 FA0 5 J%d41 7

(3) FeATaF THE FEHATT 1 A9 Al B

(11
(2) 2
(3) 3
(4) 4
1[Option ID=10821]
2[Option ID=10822]

3[Option ID=10823]
4[Option ID=10824]

(2
(4)

To=n =1 g== =9 ¥ ai=ned a9 v 2

-)! f'\ T o - [t f‘

Sl. No.32
QBID:1058007




Which of the following are applications of supervised learning?

(A)
(B)
(€)
(D)
(E)

Fraud detection
Image classification
Disease diagnosis
Data clustering

Dimensionality reduction

Choose the most appropriate answer from the options given below :

(A). (B), (C) only
(A), (D), (E) only
(B), (C), (D) only
(C), (D), (E) only

fotifera & @ F1 A ST /% s £ R

(A) o 5= (%S fsewm)
(B) T =it
(C) T fEm
(D)  E=E1 FEET
(E) #AmwE B
ﬁﬁhﬂmﬁﬁﬂﬂﬂﬁﬁﬁwﬁﬁﬂ
(1) == (A). (B). (C)
(20  =ae (A). (D). (B)
(3) = (B). (O). (D)
(4)  FF=(C). (D). (B)
(1) 1
2) 2
(3) 3
(4) 4

1[Option ID=10825]
2[Option ID=10826]
3[Option ID=10827]
4[Option ID=10828]

Sl. No.33

QBID:1058008




Given below are two statements :

Statement [ :  Dynamie link file (DLL) is a library routine that can be linked to
another program only at the run time stage.

Statement 11 :  Machine language depicts flow of data in a system.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement I1 are false
(3) Statement [ is true but Statement II is false
(1) Statement I is false but Statement I is true
(1) 1
(2) 2
(3) 3
(4) 4
do g wa R mu § .

F1: sEAfus T wew (DLL) o el 99 8 9 e $EEY (W 2EE) 3= W s
T = = 2

Fu [1: Wi 9 i faeew | s % war = e = 21
ITRE HYA % A |, 9 G fawew § 3 gun 3T I 6 =99 i

(1) &A1 s 11 5A1 =& §
(2) = I 3 11 EF1 em B
(3) = 1 Hd 2, dfd %o 1L e 2
(4) e [ 7TAa B, e a1 5 #

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10829]
2[Option ID=10830]

3[Option ID=10831]
4[Option ID=10832]

Sl. No.34
QBID:1058009




Given below are two statements : One iz labelled as Assertion A and the other is labelled as

Reason R.
Assertion (A) :  Lexical analysis is related to parsing.
Reasons (R) : Lexical analvsis converts the source program into proper syntactic clauses.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 18 correct but (R) is not correct

{4) (A) is not correct but (R) is correct
(1) 1
(2) 2
(3) 3
(4) 4

4= 71 995U U E : uF Ji9EUE (Assertion (A)) % ®4 H {ehEg 2 A et 30+ #rv (Reasons (R))

FETH
ATFE (A) : TMise® @vea Uz [d=aed o daidd 2@l 2
FA9 (R) : Tifee Tavamw @E UM 1 3fEd JeEeE S § 9iEtad T 2

TR FI F S 5, A 5 T fawen § ¥ weE 30 3 99 S

(1) (A) 3 ®) 2A w# E 3R (R), (A) F T 5
(2) (&) el {R}aﬁﬂf{gﬁm (R). (A) =i =& == :FFF'I"}
(3) (AT 2, AfF (R) TH T 2

4) (A =H E 2, S (R) 991 2

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10833]
2[Option ID=10834]

3[Option ID=10835]
4[Option ID=10836]




Sl. No.35
QBID:1058010

Given below are two statements :
Statement [ :  Parsing is a process of finding a parse tree for a string of tokens.
Statement 11 : A grammar that produces more than one parse tree for some sentences

is called ambiguous.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement I are incorrect
(3) Statement [ is correct but Statement II is incorrect
(4) Statement [ is incorrect but Statement I is correet
(1) 1
(2) 2
(3) 3
(4) 4

FoA 1:  UEeAnE A e B TSI 38 o A9ETe i T 2

FA I1: a7 =90 5 9 FoF1 7g UF H G T5eAne 98 TEgd #Adl 8, 98 998 (e

ool %l
I HUA F AE H, 46 750 T el § 9 56y IUEe I =9 i

(1) A 137 O 5F 948 7
(2)  FoE IR I = e 7
(3)  FF I9H 2, oA woF I 7 2

(4)  wuE I7ed 2, @iwA wed (L8 2

1 1
(2) 2
3) 3
(4) 4

1[Option ID=10837]
2[Option ID=10838]




3[Option ID=10839]
4[Option ID=10840]

Sl. No.36
QBID:1058011

Which tool is used for grouping of characters in tokens in the compiler?

(1) Parser (2) Code optimizer

(3) Code generator (4) Seanner

(1) 1
(2) 2
(3) 3
(4) 4

HEeTF H o & T o TE 79 [read § 8 HA |1 3990 JA R s g 7
(1) 7% =t () (2) %2 TAHER (FIS AfEHER)
(3) e A (FE THH) (4) TR

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10841]
2[Option ID=10842]

3[Option ID=10843]
4[Option ID=10844]

Sl. No.37
QBID:1058012

Which of the following is/are not component(s) of an expert system?

{A) Inference engine
(B) Knowledge base

(C) Learning module
(D) Explanation module
(E) MYCIN

Choose the correct answer from the options given below :
) (A), (B) and (C) only

) (A), (B) and (D) only

(3) (D) and (E) only

) (E) only




fortht T foreem ¥ frifen =9 m/d 9= 16 237

(A)  T%E 3
(B) o= =
(C) &t ArEgE

(D)  UFEETHEE HIEEE
(E) w9 &t o7 v (W5eA)

Hi= fou mu famegi § @ A8 390 %1 =994 Hifau
(1) == (A), (B) 3 (C)
(2) =4 (A), (B) 3 (D)
(3)  wa« (D) i (E)
(4)  Fa= (B)
(1) 1
(2) 2
(3) 3

(4) 4

1[Option ID=10845]
2[Option ID=10846]
3[Option ID=10847]
4[Option ID=10848]

Sl. No.38
QBID:1058013

Lk X, = (1, %, 8, i) Topi=1, 2,3, Then, X, is
=l

5 O - . @ §1,.2.3)
(3) {1 2} (4) {1}

1 1

(2) 2

(3) 3

(4) 4

ﬂﬁ. X ={1,2 8. i} %,3’5{?:‘:1.2.:3.... %I?ﬁ, ﬂ X ﬁ'ﬁlﬁTﬂ

(1) {12 3....} 20 {11, 2,3}

3 11 23 4) {1}

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=10849]
2[Option ID=10850]




3[Option ID=10851]
4[Option ID=10852]

Sl. No.39
QBID:1058014

The process of converting plaintext into ciphertext is called

(1) Decryption {2) Encryption
(3) Authentication {4) Compilation
(1) 1
(2) 2

(3) 3
(4) 4

AR (Fa W) ° e (Fefafad wewm) § afEtia =1 6 ulEn waad @

(1) fore (2) T
(3) THH (1) =FeH

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10853]
2[Option ID=10854]

3[Option ID=10855]
4[Option ID=10856]

Sl. No.40
QBID:1058015

Consider the following declaration

int list [5] ={ 2, 4,0,6,1};

what will be the values assigned to list [0] and list [3]

(1) 4,6 2 28
(3 2,0 (4) 0,4
1) 1
(2) 2
3) 3

(4) 4




f r': [ e _q_‘r E— 'P, fu T :

gt [5]={2. 4.0.6.1}:

Z=1 [0] &1 g=h [3] % Ffee 9= =0 =0

[+
]

(1) 4, 6 (2)
(3) 2.0 4y 0.4

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10857]
2[Option ID=10858]

3[Option ID=10859]
4[Option ID=10860]

Sl. No.41
QBID:1058016

A function call that sends the copy of its actual parameters to a function is called as

(1) Call by value (2) Call by reference

(3) Call by pointer (4) Preprocessor directives

(1) 1
(2) 2
(3) 3
(4) 4

= TR (A ) A TRET TR T SE TR AEGst % e 95 2, 98 heerdl |

(1)  =F A=am (2) ==Y AEAH
(3)  TEF AR (4) gawEES Fem
(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=10861]
2[Option ID=10862]
3[Option ID=10863]
4[Option ID=10864]

Sl. No.42
QBID:1058017




Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A) : Given: x =1, 2. 20 and 7(0) =10
If: fix)=fix-1)+ 3
Then : f(x) 18 a recursive function.

Reasons (R) : A funection which eall itself is known as recursive function.

In the light of the above statements, choose the most appropriate answer from the options
given below :

=i

(
(

) Both (A) and (R) are correct and (R) is the correct explanation of (A)
) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

5]

3
(4

—

) (A) is correct but (R) is not correct
) (A) is not correct but (R) is correct
(1)
(2)
(3)
(4)

A W N =

= %1 o= 4w Mo & : v i (Assertion (A) % ¥4 # fafad 2 9 790 39 FW9 (Reasons (R))
FETH

AfaFaa (A) o g: c-1, 2. 20,3 f0)=10

Ul 1 Flxy= Fla =13+ 8

Al fx) TF THE B 2
F0 (R) - g B W 99 I TG FEAT & 98 a1 Ber FwEel &)

ITE F9A % AE A, 99 Zu T FEwedi § ¥ 999 39gE I 1 99 Fifa

(1)  (A) 3R (R) 3 = & 3 (R), (A) 1 = == 2

(2)  (A) R (R) TA @@ &, d (R), (A) F T8 ==men 7@ 2
(3) (A= &, &k (R) od 76 &

(4) (A= 7 R, e (R) w6 2

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10865]
2[Option ID=10866]

3[Option ID=10867]
4[Option ID=10868]

Sl. No.43
QBID:1058018




A set of related data items of a particular entity is called a

(1) Record (2) File
(3) Data (1) Field

1 1
(2) 2
(3) 3
(4) 4

fafire 7= & Taftm == 951 =1 9g== FEam §

(1) f=E (2) wEa
(3) EE (1) Fies

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10869]
2[Option ID=10870]

3[Option ID=10871]
4[Option ID=10872]

Sl. No.44
QBID:1058019

The Boolean expression (p — g)~ (p — ) is logically equivalent to

{l] (lpagl—r {2} (par)y—aq

(3) P = lgar) (4) g—={par)

1) 1
(2) 2
3) 3
(4) 4

Eluf_ﬂn:ﬂ aﬁlqriﬁa (Boolean) deddl (p—> g)n(p—>r) 1 EFPJEFUFI, F!F’I?'

(1) (prg)—>r (2) (par)—>gq

(3) p—o(gar) (4) g (par)

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10873]
2[Option ID=10874]

3[Option ID=10875]
4[Option ID=10876]

Sl. No.45
QBID:1058020




The number of relations are there on the set {a, b.e,d !

(1) 512 (2) 1024
(3) 1 (4) 65,536

1 1
(2) 2
(3) 3
(4) 4

ﬁﬁTﬂ[ﬁE fa, b,e,d} %Wﬁﬁﬂ@ﬂ

(1) 512 (2) 1024
(3) 4 (4) 65, 536

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10877]
2[Option ID=10878]

3[Option ID=10879]
4[Option ID=10880]

Sl. No.46
QBID:1058021

Merge sort performs in two phases : sort and merge. What is the expected time of merging?
(1) #{n) (2) Bllog n)
(3 Binlog n) (4) #in)

(1) 1

(2) 2

3) 3
(4) 4

@eré dfafer (Merge sort) 1 Waeds # fFal 9 £ : 98 i faea) Sfaem 1 sgmifaa ava == &7
(N ai{n) (2) Ailog n)

(3) Binlog n) (4) #in )

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10881]
2[Option ID=10882]

3[Option ID=10883]
4[Option ID=10884]

Sl. No.47
QBID:1058022




Pseudo code is

(1) Refined version of program
(2) Language independent code
(3) Outeome of compilation process
(4) Code developed using the syntax of a specific language
(1) 1
(2) 2
(3) 3
(4) 4
THFLE

(1) S = Tishd TR

(2) WIS =0 B

(3)  Teher whEAT %1 gfom

(4) fafme s i T = w5

(1)
(2)
(3)
(4)

A W N =

1[Option ID=10885]
2[Option ID=10886]
3[Option ID=10887]
4[Option ID=10888]

Sl. No.48
QBID:1058023

The median of » elements can be found in 0(x) time. Which one of the following is correct
about the complexity of quick sort, in which median is selected as pivot?

(1) O(n) (2) O(n log ,n})

(3) O(n) (4) Oin")

(1) 1

2) 2

3) 3

(4) 4

Pl n A1 $1 AEERT F O(n) T99 § TH BT 1 OFA1 2| 37 3205 F AU F 96 ° Hengd 8 1
I | TR B, T wqieam ﬂﬁ.ﬁ%?ﬂq@w%?

(1) Oin) (2) Oin log,n)
(3) O(n®) (4) O(n®)

(1) 1

(2) 2

(3) 3




1[Option ID=10889]
2[Option ID=10890]
3[Option ID=10891]
4[Option ID=10892]

Sl. No.49
QBID:1058024

In a eryptographic Hash function, if it is computationally infeasible to find any pair (x, )
such that gix)= H(y), we call it

(1) One way property (2) Weak collision resistance

(3) Awvalanche effect (4) Strong collision resistance

1 1
(2) 2
3) 3
(4) 4

wF FemThiE 29 FE (FeH) § 30 97 VHE 9§ HIE TH (x.y) A48 % H(x)=H(y) 95 H
E ._.[ I._,] 7 _'.:-. ERE ‘l THH '-.'-E.. T_'"

(1) =% 9dE (2) & mEge iy
(3) U=y uuE (4) WEA TEA Tiand
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=10893]
2[Option ID=10894]
3[Option ID=10895]
4[Option ID=10896]

Sl. No.50
QBID:1058025

MAC address is also called
(1) Physical address (2) Logical address

(3) Source address (4) Destination address

(1) 1
(2) 2
3) 3
(4) 4

#% (MAC) w29 =1 39 99 9 off 91 = & -

(1) Trfasa g (2) wifase w2g
(3) = um (4) SHHWH UgE
1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=10897]
2[Option ID=10898]
3[Option ID=10899]
4[Option ID=10900]

Sl. No.51
QBID:1058026

Which of the following layers does the HTTP protoeol work on?

(1) Physical Layer (2) Data-link Layer
(3) Application Layer (4) All 7layers

(1) 1
(2) 2
(3) 3
(4) 4

fraferfas 4 & g o (@) m o= & & ff (HTTP) SErhe 6 &= 87
(1)  ifes (ffawa) wa (2) se-fo @
(3) ST (AR T (4) @t 7wE
(1)
(2)

(3)
(4)

A W N R

1[Option ID=10901]
2[Option ID=10902]
3[Option ID=10903]
4[Option ID=10904]

Sl. No.52
QBID:1058027

(Given below are two statements :

Statement [ : In RSA, private key d =¢ "(mod ¢(n)), where ¢(n) is Euler's Totient
function.
Statement [ : Ifn=187 and e=17,then 4 =23

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement I are incorrect
(3) Statement [ is correct but Statement I1 is incorrect
(1) Statement [ is incorrect but Statement I1 is correct
(1) 1
(2) 2
(3) 3
(4) 4




LE AT E R el -

FoT 1 - AR.TA.T, (RSA) H, TTEAZ Foll d = ¢ (mod ¢(n)) Falg(n) T 202 Fed 2

FUF II: W 187 HAL e—7 dl d = 23

ST FUH o ATAF H, A 5 T fawenl | @ gad 30 ST 1 99 I

(1)  F99 IR [ ZH a7 2

(2) F99 1 3R I1 =41 Terd &

(3) +94 1 979 ?‘, oIl oA 11 18eg 2

(4)  wUA 10 2, S w9d 197 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10905]
2[Option ID=10906]

3[Option ID=10907]
4[Option ID=10908]

Sl. No.53
QBID:1058028

Diffie-Hellman key exchange is based on the difficulty of

(1) Integer Factoring problem (2) Subset sum problem
(3) Discrete logarithm problem (4) Primality testing

(1) 1
(2) 2
(3) 3
(4) 4

‘feh—gama I Fiofl UFE=S [T FSATE T ATHIE 2

(1)  UTe OHEUEE T (2) TeHE (TeHg=a ) EFe T
(3) Tafaw s wwen (4) TTEATRAAT afEa

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=10909]




2[Option ID=10910]
3[Option ID=10911]
4[Option ID=10912]

Sl. No.54
QBID:1058029

In computer networking, which of the following best describes uploading information?

(1) Sorting data on a disk drive

(2)

(3) Receiving information from a host computer
)

(4

Sending information to a host computer

Sorting data on a hard drive

(1)
(2)
(3)
(4)

A W N R

FHZL A2 B G Fl AGANST FI HEngd § @ HE A HEEE @ A SAnsETad Hl #

(1) T=0F 3159 W =10 BT (2) WTF TP (FR=2) H G=A1 UMHa F
(3) 99 F H TEAT 9T Al (4) 7T 39 W IR B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=10913]
2[Option ID=10914]
3[Option ID=10915]
4[Option ID=10916]

Sl. No.55
QBID:1058030

“Parity bits” are used for which of the following purpose?

(1) Encryption of data (2) To transmit faster
(3) To identify the user (4) To detect error

(1)1
(2) 2
(3) 3
(4) 4

‘i T’ Traferfas | © frm 2va & fow wgw B 9@ €7
(1) = T(ufERee 3 s ) (2) itzen I T % foo
(3) Wi <kl wEEH % few (4) 3 = v % fu

1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=10917]
2[Option ID=10918]
3[Option ID=10919]
4[Option ID=10920]

Sl. No.56
QBID:1058031

Which type of topology is best suited for large business which must carefully control and
coordinate the operation of distributed branch outlet

(1) Ring topology (2) Star topology

(3) Hierarchieal topology (4) Loeal area

1) 1
(2) 2

(3) 3

(4) 4

T3 =FUF 7 8 gER f @it mEihs SwE wd @ W fEaim wmn sneese & w=wE W
(1) = gifeafd (2) T wfEf

(3) e aifeafd (4) T &=

(1)
(2)
(3)
(4)

A W N R

1[Option ID=10921]
2[Option ID=10922]
3[Option ID=10923]
4[Option ID=10924]

Sl. No.57
QBID:1058032

The loecation of a resource on the Internet is given by its

(1) Protocol (2) URL
(3) WWW (4) SMTP

(1)
(2)
(3)
(4)

A W N R

(1) T (2) URL
(3 WWW (4) SMTP
1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=10925]
2[Option ID=10926]
3[Option ID=10927]
4[Option ID=10928]

Sl. No.58
QBID:1058033

. : il : ,
For a given function r:-Z - R, fin) = —, the domain and codomain are
n

(1) R.R 2) Rr.Z

(3 Z.R 4 =z, =z

1) 1
(2) 2
(3) 3
4) 4
ERUMEEH -2 > R, f(n) = —, 8 W 31 o7 W= (SWA i+ =) foa &

N

(1) R, R (2) R.Z

(3) Z, R 4 =z, z

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10929]
2[Option ID=10930]

3[Option ID=10931]
4[Option ID=10932]

Sl. No.59
QBID:1058034

Given below are two statements :

Statement [ : The private key in asymmetric key cryptography is kept secret by
receiver.
Statement I1 : RSA algorithm is not used in asymmetric-key eryptography.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement IT are false
(3) Statement [ is true but Statement I1 is false
(4) Statement [ is false but Statement I is true

1 1
(2) 2
(3) 3
(4) 4




g 5w R mu § .

w1 : S ¥ e § yEae (Felt) 9 st g e wEt e 2l
FA 1l : W UF U ST 1 A SEHE T2 e § T8 e e gl

IR H F e 7, A= G T e § § gee 39w I 6 99 i

(1) A 13 11 541 =&t §
(2) A 13w 1 5A e
(3) = [ |8 &, oAt &9 [ e 8
(4) w9 7w €, ST Fe T8 8

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10933]
2[Option ID=10934]

3[Option ID=10935]
4[Option ID=10936]

Sl. No.60
QBID:1058035

Which of the following are considered as signal transmission media in data communication?

(A) Twisted pair cable

(B) Microwaves and satellite signals
(C) Repeaters

(D) Analog transmission

(E) Fiber optics

Choose the correct answer from the options given below :

(1)  (A)and (E)

(2)  (A)and (B)

(3)  (A), (B) and (E)

(4 (A), (B), (C) and (E)
(1) 1
(2) 2
(3) 3




#Hiwg gan | F=fafas 4 4 fFa fams gue |rew 5 | 87

(A) BxE T FEa (amEfda 3w Faa)
(B) wiwiaa U deemse fama (AisEEE T I HA)
(C) fofied (gads)
(D) wAetm gafie (e whem)
(E) i snfeeaa (dqg serht)
#= fou mu famweai § § |8 I F1 T Hifau
(1) <= (A) 3 (E)
(2) %A (A) 3R (B)
(3)  F== (A), (B) 3 (E)
(4  F== (A), (B), (C) 3R (E)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=10937]
2[Option ID=10938]
3[Option ID=10939]
4[Option ID=10940]

Sl. No.61

QBID:1058036

Given below are two statements :

Statement [ : Class D, IP addresses are used for multicast

Statement [T :  Class B, IP addresses are reserved for future use.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1)
(2)
(3)
(1)

(1) 1
(2) 2
(3) 3
(4) 4

Both Statement I and Statement IT are correct
Both Statement I and Statement I are incorrect
Statement I is correct but Statement I1 is incorrect

Statement [ is incorrect but Statement I1 is correct




EIERARC TR i

FA 1 T F, e vgm w A aEdiE F e e e 2

wo IL: = o, o7E. 91, usd ufa= & W= o e st 2|

SR FYA F AAE 0, S 5 T e ¥ @ g9E e S R =99 e
(1) = IR I gAT =& 2

(2) = I #R I e 2

(3)  FUA ITE 2, o Fa I 7ed 2

(4w 7o B, @iFA F21 [L T80 7

1 1
(2) 2
(3) 3
(4) 4

1[Option ID=10941]
2[Option ID=10942]
3[Option ID=10943]
4[Option ID=10944]

Sl. No.62
QBID:1058037

(Given below are two statements :

Statement [ :  Bluetooth is an example of wide area network (WAN).

Statement 11 : 08I model has seven layers.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement I1 are false
(3) Statement I is true but Statement 11 is false

(4) Statement [ is falzse but Statement II is true

(1)
(2)
(3)
(4)

A W N R




4= 71 %o fou o B

Fo [ oy ass v Jzas (WAN) =1 o 35 2

Fu4 I1: 70 " 1S 6ise 9 919 Wd wdl 7
I F2A F A °, 41 7 v o 4 @ geg ugs 3w =1 fif

(1) = L3 oA 8 2

2y  FwE LR [=E Ted 7

(3)  FHA ITE 2. A FoF [ 7 7
(4) = 17 2, o w99 [ 971 2
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=10945]
2[Option ID=10946]
3[Option ID=10947]
4[Option ID=10948]

Sl. No.63
QBID:1058038

Which of the following is/are

Built-in data types in SQL

(A) char

(B) varchar
(C) int

(I string
(E) numerlc

Choose the most appropriate answer from the options given below :

(1) (A), (B), (C), (D) (E) only
(2)  (A), (B), (C), (D) only
(3)  (A), (B), (O). (E) only
(4) (A, (B), (D), (E) only
(1) 1
(2) 2
(3) 3

(4) 4




frafafias 4 @ % w1/3 w8 | T4 (SQL)

(A) =R (Char)
(B) =& (Varchar)
(C) % (int)

(D) fem

(B) =pife

fre fau v fasreai % | TEE IUgE I = Hif
(1)  FA&a (A). (B), (C), (D), (E)

(2) =4 (A), (B), (O), (D)

(3) =@ (A), (B), (C), (E)

(4)  F=a (A), (B), (D), (E)

1 1
(2) 2
(3) 3
(4) 4

1[Option ID=10949]
2[Option ID=10950]
3[Option ID=10951]
4[Option ID=10952]

Sl. No.64
QBID:1058039

Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A) : In relational database model, a candidate is a minimal “super key”.

Reasons (R) : Candidate key is a “Superkey” from which we cannot remove any attributes
and still have the uniqueness constraint hold.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4 {A) 1s not correct but (R) is correct

1 1
(2) 2
(3) 3
(4) 4




= =t Fa fou T 2 : u Afe (Assertion (A)) % ®9 1 foifa 2 a1 580 39% F0 (Reasons (R))
FETY

AFA (A) HeETF S2EE Tiaey |, Teane uh degad (fafee) gEest’ (gw ) 2 R
F1 (R) : “reareft F U, HEEES, A6 2 fAEE 2 en i e 99 O 2 oft e ofi faferea

T T ST T
ST FUA F A H, 46 e W e d F e I S = i

(1) (A) 3R (R) =F1 981 2 2 (R), (A) F o == 2
(2) (A) 31 (R) =M1 T3 £, 9 (R), (A) F1 T# =me 741 2
(3) (A) =7l 7, w1 (R) 971 T8l 2
(4 (A TFH T2, @l (R T 2
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10953]
2[Option ID=10954]

3[Option ID=10955]
4[Option ID=10956]

Sl. No.65
QBID:1058040

In microprocessor, the number of hits processed in a single instruction is known as

(1) Instruction set

) Instruction speed
(3) Bandwidth

) Bandspeed

ATSFITEER #, UF 3Thel 319691 GH1 WhiAG fargd il T Faamd #

(1) 0 9=
(2)  FIEH T

(3) wsfEsy

(4) E L 1
(1) 1
(2) 2
(3) 3




1[Option ID=10957]
2[Option ID=10958]
3[Option ID=10959]
4[Option ID=10960]

Sl. No.66
QBID:1058041

Which of the following is a special-purpose register of microprocessor?

(1) Accumulator {2) Instruction register

(3) Temporary register (4) Program counter

1 1
(2) 2
(3) 3
(4) 4

frfeafiga 4 @ =19 o1 aEwEvEEr =1 fEle Ryt 27

(1) H=EE= (2) fagm o
(3) e T (4) WU FER

1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=10961]
2[Option ID=10962]

3[Option ID=10963]
4[Option ID=10964]

Sl. No.67
QBID:1058042

A microprocessor memory has 20 address lines and 16 data lines. What is the memory
capacity of the microprocessor?

(1) 2 MB (2) 32MB

(3) 320 MB (4) 18 MB

1 1
(2) 2
3) 3
(4) 4

U HISHITHET § 20 USH TE4 S 16 SE1 @ 6| HISshIaieEt i HHil seen e 87

(1) 2MB (2) 32MB
(3) 320 MB (4) 16 MB

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=10965]
2[Option ID=10966]




3[Option ID=10967]
4[Option ID=10968]

Sl. No.68
QBID:1058043

In microprocessor, suppose the contents of the registers A and B are 50H and 60H,
respectively. After the execution of the instruction : MOV A, B

The contents of A and B will be :

(1) A =50H, B=60H (2) A=50H, B=50H

(3) A=60H, B=60H (4) A=60H, B =50H

1 1
(2) 2
(3) 3
(4) 4

ATsHINEET #, 7 fataw T9et A 3R B i sindeg ®89: 50H 3R 60H &, Fem + Fm=aa & avam
MOV A B

A i B i1 faaeg &l
(1)  A=50H, B=60H (2 A=50H, B=50H
(3)  A=60H, B=60H (4) A=60H, B=50H

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10969]
2[Option ID=10970]

3[Option ID=10971]
4[Option ID=10972]

Sl. No.69
QBID:1058044

Which of the following is a non-primitive data structures :
(1) Boolean (2) Array
(3) Character {4) Integer

(1) 1

(2) 2

(3) 3

(4) 4

FefEd 8 o FE H TH-TmEE e S 27

(1) 77 (Boolean) (2)  =oh
(3) T @ i
(1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=10973]
2[Option ID=10974]
3[Option ID=10975]
4[Option ID=10976]

Sl. No.70
QBID:1058045

The running time for solving minimum-spanning-tree problem using Prim's algorithm is
(1) Oflog V) (2) O(Elg V)

(3) O(E) (4) OV lg V)

(1) 1
(2) 2
(3) 3
(4) 4

T weTIie 1 T Fe T TR S - gEen #we e % e s w5

(1) Oilog V) (2y O(ElogV)
(3) O(E) (4) OVlegV)

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10977]
2[Option ID=10978]

3[Option ID=10979]
4[Option ID=10980]

Sl. No.71
QBID:1058046

The length of the shortest path between a and z, in the weighted graph shown, is

(1) G 2 b
(3) 8 (4 4

(1)
(2)
(3)
(4)

A W N =




g-.
A

23 0 3PS TTF H 'a’ J ‘2 F &= I (heam U9 #iw

3

i 2
(1) 6 (2) 5
(3) 8 (4) 4
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10981]
2[Option ID=10982]
3[Option ID=10983]
4[Option ID=10984]
Sl. No.72
QBID:1058047
For a given funetion, an asymptotic lower bound can be defined using :
(1) O-notation {Big O notation) (2) o-notation (Small o notation)
(3) Theta notation {4) Omega notation
(1) 1
(2) 2
(3) 3
(4) 4
a1 ™ =1 &g, Fefatan & w=m gm sl = ofieg 53 s o 2
(1)  O- @A (=21 O TFed) (2) o - THH(SET o Hehed )
(3)  effer Tehaa (4)  AHT THehaA
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=10985]
2[Option ID=10986]
3[Option ID=10987]
4[Option ID=10988]

Sl. No.73
QBID:1058048




The processing and accessing of each element in an array exactly once is known as

(1) Insertion (2) Search

(3) Deletion {(4) Traversal
(1)
(2)
(3)
(4)

el Taoft § aza: U 9N Ueds ded & AT S WsREl i ufE sEel B o

A W N =

(1) HATETA (2) ==
(3 fa=m (4) AT

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10989]
2[Option ID=10990]

3[Option ID=10991]
4[Option ID=10992]

Sl. No.74
QBID:1058049

For a given Binary tree T,

S v
The precrder traversal of T is,
(1) STQUVRP (2) PQSTRUV
(3) SQTURVP 4y PQRSTUV
(1) 1
(2) 2
3) 3

(4) 4




vk e A T

/?\
o /R\
S T U v
T =1 TIH 299 7|
(1) STQUVRP (2) PQSTRUV
(3) SQTURVP 4y PQRSTUYV
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10993]
2[Option ID=10994]
3[Option ID=10995]
4[Option ID=10996]
Sl. No.75
QBID:1058050
A common method used to represent a graph is
(1) Stack (2) List
(3) Queue (4) Adjacency matrix
(1) 1
(2) 2
3) 3
(4) 4
ot e =i wEfif #= % o wgs am ugf g
(1) & (Stack) 2 fow (g0)
(3) ¥ (Queue) (4) @ 8fFE (Adjacency matrix)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=10997]
2[Option ID=10998]
3[Option ID=10999]
4[Option ID=11000]

Sl. No.76
QBID:1058051




In OS] security architecture, the security attacks can be classified as

(A) Sequential attacks
(B) Parallel attacks
(C) Active attacks

(D) Passive attacks

(E) Distributed attacks

Choose the correct answer from the options given helow :

(1) (A, (B) only
(2)  (C). (D) only
(3)  (C), (D), (E) only
(40 (A). (B), (E) only
(1) 1
(2) 2
(3) 3
4) 4
311 vE o7 Taegil antheaan 6, faegidl wRe FefiEd =9 ° aiigd = o 59 #
(A)  HATHEE

(B)  THHEEE 551

(C)  =0Fg =8e

(D) e =men
(E)  Tadia =9en
S fou o forpedl H © geE ST IR R 99 R

(1)  =ae (A). (B)
(2)  =ae (C). (D)
(3) === (C). (D). (E)
(4) = (A). (B). (E)
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11001]
2[Option ID=11002]
3[Option ID=11003]
4[Option ID=11004]

Sl. No.77
QBID:1058052




Match List [ with List II :

(&)
(B)
(©)
(D)

List 1
Plaintext
Ciphertext
Enciphering
Cryptanalysis

List II
() Unintelligible data
(I) Cryptanalytic attack
(IIT) Original intelligible data
{IV) Encryption

Choose the correct answer from the options given below :

F-11
()  wFsferTee se
() fF=rATaes @1®
(III) =i S2fetase s
(IV) =f=rem

() (A)-D. (B)-(ID, (O)-(1I), (D)-IV)
(2) (A)-(I), (B)-(III), (C)-(IV), (D)-(ID)
(3) (A)-(I1I), (B)-(I), (C)-(IV), (D)-(1I)
(4) (A)-(IID), (B)-(IV), (C)-(I), (D)-(II)
(1) 1
(2) 2
(3) 3
(4) 4
=11 % = = g1 e it
g1
(A) e qrE=m
(B) Feicitad qr2=m
(C) FeeiEA
(D) TEETeT (AT )
4= feu U fawedl 3 9 "R I F 99 FibA
(1) (A)-(I). (B)-(ID). (C)-(III). (D)-(IV)
(2) (A)-(I). (B)-(III), (C)-(IV). (D)-(IT)
(3) (A)-(IID). (B)-(I). (C)-(IV). (D)-(1IT)
(4) (A)-(IIT). (B)-(IV). (C)-(I). (D)-(IT)
(1)1
() 2
(3) 3
(4) 4

1[Option ID=11005]
2[Option ID=11006]
3[Option ID=11007]
4[Option ID=11008]

Sl. No.78
QBID:1058053




The 9's complement for the decimal number “467" is

(1)
(3)

]

=]

1 (2) b23
71 (4) b3a2

|8}

(1)
(2)
(3)
(4)

A W N R

ZIHEE T : “467" % TI7 9 F TF (complement) T #7

(1) 217 (2) bH23
(3) 271 (4) bH32

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11009]
2[Option ID=11010]

3[Option ID=11011]
4[Option ID=11012]

Sl. No.79
QBID:1058054

In Boolean algebra, a Demorgan’s theorem states that

(1) Aiel o kon
(Z) A-B=A:F
(3) st il
(4) A B-a.B

(1) 1

(2) 2

(3) 3

(4) 4

(1) A:B=A+8
() A.H=4.8
(3) R W
(4) A-B=A-B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11013]
2[Option ID=11014]
3[Option ID=11015]
4[Option ID=11016]




Sl. No.80
QBID:1058055

For a cache memory, the most suitable type of memory is

(1) Dynamic RAM (DRAM) (2) Static RAM (SRAM)
(3) Programmable ROM (PROM) (4) Erasable PROM (EPROM)

(1) 1
(2) 2
3) 3
(4) 4

gl wf (3 1) 79, Faifes S9gW Ffa R R -

(1)  =r=EfEE ™ (DRAM) (2) =fe= 19 (SRAM)
(3)  wmwEs 19 (PROM) (4) FF=a ww (EPROM)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11017]
2[Option ID=11018]

3[Option ID=11019]
4[Option ID=11020]

Sl. No.81
QBID:1058056

The value of 4096 kilobytes (KB) in megabytes (MB) is

(1) 1.096 MB (2) 40.96 MB
(3) 5MB 4y 4MB

(1) 1
(2) 2
(3) 3
(4) 4

4096 Trerage (KB) =1 w9 wemge (MB) | e g1 2

(1) 1.096 MB (2) 40.96 MB
(3) 5MB (4) 4MB

1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=11021]
2[Option ID=11022]

3[Option ID=11023]
4[Option ID=11024]

Sl. No.82
QBID:1058057




The hexadecimal equivalent of (101011)z is

(1) (1B):s (2) (2Bha
(3 (AC)s (4y (ABhs

(1) 1
(2) 2
3) 3
(4) 4

(101011); 1 H9g= ¥is9 grl (FFnsdina) 2 -

(1) (1B (2) (2Bhs
(3) (AC)s (4) (AB)s

1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=11025]
2[Option ID=11026]

3[Option ID=11027]
4[Option ID=11028]

Sl. No.83
QBID:1058058

Match List I with List IT :

List I List 11
(A) Simplex
(B) Half-duplex

(I)'  One bit at a time over a wire

(
(C) Full-duplex (IIT) Data transmission in one direction only

{

I} Bidirectional transmission at same time

(D) Serial transmission I'V) Bidirectional transmission but not at same time

Choose the correct answer from the options given below :

(1) (A1), (B)-(I), (C)-(IV), (D)-(L)
(2) (A0, (B)-(II), (C)-(I1L), (D)-(IV)
3y (A)-IID, (B)-(IV), (O)-(IL), (D)-()
4) (A1), (B)-(IV), (C)-(D), (D)-(1I)

(1)
(2)
(3)
(4)

A W N =




T 1 % |y = g1 faem Fif

-1 11
(A) e (Faeeim) (I) U @54 U G0 W U (692
(B) wd-34 (F1% g=r) (I) v & =wa ffem d=om
(C) T 39 (& g=iae) (ITT) =t v T & s s

(D) s d=w (Hifma gafea) (V) G g=m g o & 9w
Hr= f2u o fmeai & @@t 3 = = fif

(1) (A0, (B)-L), (C)-(IV), (D)-(11I)
(2 (A0, (B)-ID), (C)-(IID), (D)-(IV)
(3 (A1), (B)-(IV), (O)-I), (D)-(I)
(4) (A1), (B)-(IV), (O)-(@). (D)-(1D)

(1)
(2)
(3)
(4)

A W N B

1[Option ID=11029]
2[Option ID=11030]
3[Option ID=11031]
4[Option ID=11032]

Sl. No.84
QBID:1058059

Given below are two statements :

Statement 1 : (a-b)+(a- b)can represent an XOR gate

Statement 11 : {a+b)-(a-bycan represent an XOR gate.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement I are incorrect
(3) Statement [ is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement 11 is correct
(1) 1
(2) 2
(3) 3

(4) 4




A 21 Fo fgw e

FAL:  (a-b):(a- b) T XOR 72 &I TEqq & g1 1

FHAI:  (a+b) (a-b) T XOR 72 %I WEqq L a5 2

I FUA F A |, G 2y T e § F g9 3 I 99 Hie
(1) &9 13 11291 =8 &

(2) = 1 3R I gH1 Tea

(3) #9e | 98l 8, oifeed %99 11714 2
(4) F94 [ 7Te1a &, Sl wed 1981 2

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11033]
2[Option ID=11034]

3[Option ID=11035]
4[Option ID=11036]

Sl. No.85
QBID:1058060

In microprocessor, decoding opecode means

(1) Perform ALU operation
(2) Go to memory
(3) Go to output device

(4) Length of the instruction and number of operations

(1)
(2)
(3)
(4)

A W N =

RISREE | 3A0shE e =1 s a2
(1) wum 7 sy Fenfam %= (2) HH 9w
(3) frim gfe = (4) Tagw & == w9 sgivE & "@E

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11037]
2[Option ID=11038]

3[Option ID=11039]
4[Option ID=11040]

Sl. No.86
QBID:1058061




Given below are two statements :

Statement [ :  Breadth-first search expands the Shallowest node first.

Statement 11 . Depth-first search expands the deepest unexpanded node first.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement [ is correct but Statement I1 is incorrect
(4) Statement [ is incorrect but Statement I is correct
(1) 1
(2) 2
3) 3
(4) 4

F= o e fe e #

FoAL:  FEATE T U THA ATl STEE F A T o 2

w01 =0 B2 He TEAaH AVEN HTEE 0 HAueE T i 2
I FYA & A H, A 20 T fowedl 4 9 q9E 309G ST 6 94 i

(1) = I3 I e =8 2
(2) v I ¥ I EH T 7
(3)  wuA I 9@ 2, =i A I Teid 7
(4) = [T 2, =k e [LEe 2

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11041]
2[Option ID=11042]
3[Option ID=11043]
4[Option ID=11044]

Sl. No.87
QBID:1058062




In Al, a game can be defined by the

(A) initial state

(B) legal actions in each state
(C) result of each action
(D) a terminal test

(E) a utility function

Choose the correct answer from the options given below :

(1)  (A).(B) and (D)

2y  (B),(C) and (D)

(3)  (A), (B), (C) and (D)

(4 (A), (B), (C), (D) and (E)

1) 1
(2) 2
3) 3
(4) 4

U W °, R @ () # FEfeEa # g et S S #
(A) WIS TFEen

(B)  WIE AFE ° fatas
(C)  wcd T =1 gfomm

(D)  UF A () W

(E) % Il

Hr= fou o faedi B © wE U I 1 =5 AT
(1) == (A). (B) @ (D)

(2) %= (B). (C) 3 (D)

(3)  Fad (A), (B). (C) =1 (D)

(4)  FaEA(A). (B). (O). (D) =1 (E)

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11045]
2[Option ID=11046]

3[Option ID=11047]
4[Option ID=11048]
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Which of the following is/are not suitable for grouping of data objects?

(A) Support Vector Machine
(B) Decision Tree

() K — Medoids

(D K — Means

Choose the correct answer from the options given below :

(1) {(A) and (B) only
(2) {B) and (C) only
(3) (C) and (D) only
(4) (D) and (E) only

(1)
(2)
(3)
(4)

A W N =

Fr=feaiEa o i T % ATRS1 A * o S9Ed A5 27

(A) 39T TEE 9IE (Support Vector Machine)
(B) fAuETEe (Decision Tree)
(C) K-uzims

(D) K-Trg

Hr 1o, 7T fahedl T HeH 39E IO 1 wAS I
(1) &= (A) 37 (B)
(2) === (B) #(0)
(3) A= (C) F (D)
(4) ==« (D) 3 (E)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11049]
2[Option ID=11050]

3[Option ID=11051]
4[Option ID=11052]
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Match List I with List IT :

List I List IT
{A) Planning (I) something that perceives and acts in
an environment
(B) Action (II) a path through the state space from

the initial state to goal state

(C) Agent (III) process of choosing a sequence of
actions to achieve a goal

(D)  Solution (IV) a partial function from state to state

Choose the correct answer from the options given below :

(1)  (A)-(IV), (B)-(I), (C)-(1), (D)-(ID)
(2)  (A)-(IV), (B)-(II), (C)-(11), D)-(D)
(3 (A, (B)-IV), (C)-1), (D)-(D)
(4) (A1), (B)-(IV), (C)-1), D)-(D)

(1) 1
(2) 2
(3) 3
(4) 4
g=1-1 % @ =1 g1 faem i
t-1 11
A T () (D) Toms sgva o s & &R S a8
FE A 8
(B) =d (vFH) (II) =i = O o859 =8 & & &
HIEHH = AT
(C) =1 (=z) (I1T) Fe=ronfe &g F =+ A =29 1 g
(D) TEEH () (IV) =] § AT 1 AT9F T
dr= feu o fomeat | @ = s = =9 Fifsw

(1)  (A)-(IV), (B)-(LID), (C)-(I), (D)-(1D)
(2) (A)-(IV), (B)-(111), (C)-(11), (D)-(T)
(3) (A, (B)-(AV), (C)-(). (D)-(1I)
(4) (A)-(I1ID), (B)-(IV), (C)-(11), (D)-(I)

(1)
(2)
(3)
(4)

A W N B

1[Option ID=11053]
2[Option ID=11054]
3[Option ID=11055]
4[Option ID=11056]
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Given below are two statements :

Statement [ :  Human Associative Memory (HAM) is a model of memory organized as a
network of propositional binary trees.

Statement 11 : Human Associative Memory (HAM) model was developed by Alang
turing.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement I are false
(3) Statement I is true but Statement 11 is false
(4) Statement I is false but Statement II is true
1) 1
(2) 2
(3) 3
(4) 4
#i= g1 %o ffu o § -

Fg41:  wEA udiigule 99 (T9 U UH) Ao BN 99 & 294 & B9 § Gvied HER S U
IEY £

Fod 11:  we wEifauiea 5ail (HAM) w9 uem sion g fefaa fomn mn o
I FIA F A |, 94 75y T G § F 999 39gE I W 99 Fie

(1) oA [ [13H 59 &

(2)  ®F 1R g swe &

(3) ®uA 19 8, dfeea e [ =700 2
(4) =RAIsEaR I FFAITEE

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=11057]
2[Option ID=11058]

3[Option ID=11059]
4[Option ID=11060]
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Given below are two statements :

Statement [ :  Supervised learning deals with the unlabelled data.

Statement 1T :  Unsupervised learning deals with lahelled data.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement | and Statement 11 are false
(3) Statement [ is true but Statement 11 is false

{4) Statement [ is false but Statement I is true

1) 1
(2) 2
(3) 3
(4) 4

= 3w fqg T E

w91 : wafEm saferm f-faf=a (unlabelled) == @ 9afaq &)

wod 11: M-wdfim sifamm faf=a (labelled) s@r & gafem 21

ITUR o A 4, A G T e § 9 e 39T S R 99 i

(1) FeA Iz Il=H a9 8
(2) A 13 2H sm3 8
(3) %99 199 &, o &9 1] 3589 &

(4) FE [ 3Ha 2, d T I AT 2

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=11061]
2[Option ID=11062]
3[Option ID=11063]
4[Option ID=11064]
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Which of the following is/are supervised learning technique?

(A) Decision tree

(B) Naive Bayesian

(C) Multilayer perceptron

() Principal component analysis

(E) Random forest

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (E)
(2) (A). (B), (C) and (D)
(3) (B). (C) and (D)
(4) (C). (D) and (E)
(1) 1
(2) 2
3) 3
(4) 4

frafafen # & vt sfem ofafa == = 2/37

(A)  frofags (3 4)

(B) #a @@= (Naive Bayesian)
(C) el wH

(D)  wyE g% Evemm

(E) = gfees 34 (T8 Him)

Frr fEu u fawedi § @ A99 I9gE I w1 999 Hifau
(1)  F=a (A), (B), (C) 3R (E)
(2)  FA=E (A), (B). (C) 3 (D)
(3) == (B), (C) 3R (D)
(4 == (C), (D) 3 (E)
(1) 1
(2) 2
(3) 3

(4) 4

1[Option ID=11065]
2[Option ID=11066]
3[Option ID=11067]
4[Option ID=11068]
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Given below are two statements :

Statement [ :  A* search expands nodes with minimal fin) = gir)+ hin)
Statement 11 : A* is complete and optimal, provided that &in) is admissible or
consistent.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement 1T are correct
(2) Both Statement I and Statement 11 are incorrect
(3) Statement [ is correct but Statement I1 is incorrect
(4) Statement [ is incorrect but Statement 11 1s correct
(1) 1
(2) 2
(3) 3
(4) 4
Ji9 g %A TG o § .

FH:  A* g seaam (Ffme) ro) = gon) + hin) afea Frm fefa w5 20
FAAIl:  A* i 3 5529 &, I fF h(n) Y5 F0 & A ORI SR @ 2

ITE FUA & e |, 9 G T fGwedt § 3 gud ST I w99 e

() & [ 15 g9 &

(2) w1 g s #

(3)  wua [ 9 8, wied %o [ w750 8
(4) FHEIzmEaR dsElaas

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=11069]
2[Option ID=11070]

3[Option ID=11071]
4[Option ID=11072]
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Machine learning is a field of Al consisting of learning algorithms that

(A) improve their performance over time
(B) identify patterns in the data

(C) perform classification

(D) can fully replace human intelligence

(E) can learn without data

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only
(2) (A), (B) and (D) only
(3) (B), (C) and (D) only
(4) (C), (D) and (E) only

(1)1

(2) 2

(3) 3

(4) 4

Tt AT U A W I U AT R &d 2 A
(A) @99 % WY A e § gan wan w

(B)  #THE H UIaET i TEAH Al

{C] E| HI E AU I A ] %

(D)  AFE Fig (FEA i) F 9T TaEd g 7

(E) Tl ATFS 1 AT F 691 ST F1 Thd 2

= fou o fagedi H§ O @l 3UgE I H 959 A
(1)  Fa= (A). (B) #1 (C) only
(2) &= (A). (B) #H (D) only
(3) & (B). (C) 3 (D) only
(4) =4 (C). (D) #1 (E) only

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11073]
2[Option ID=11074]

3[Option ID=11075]
4[Option ID=11076]
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Match List I with List I :

List I
(A) Precision

(B) Recall

(C) Specificity

(D) Classification Accuracy

List IT
(D TN
TN + FP
(1) TP + TN

TP + FP + TN + FN
(I1I) TP
TP + FP

vy TP
TP + FN

Choose the correct answer from the options given below :

[

(1) (A)-(I1D), (B)-(IV), (C)-(1I), (D)-(T)
(2) (A)-(I1D), (B)-(IV), (C)-(D, (D)-(IT)
(3) (A)-(IV), (B)-(111), (C)-(D), (D)-(IT)
(4) (A)-(IV), (B)-(1), (C)-(1I), (D)-(ILT)

1) 1
(2) 2
(3) 3
(4) 4

w1 % | w0 g1 faem i

g1
(A)  ulElg

(B) sg=mm
() fafsmman

(D) o gfterga

Hr e o faeegi 0 | HE 3T H 99 i

(1) (A)-(I1D), (B)-(IV), (C)-(11), (D)-(T)
(2) (A)-(11D), (B)-(IV), (C)-(D, (D)-(IT)
(3) (A)-(IV), (B)-(I11), (C)-(T), (D)-(1)
4y (A-IV), (B)-(D), (C)-(ID). (D)-(I1L)

1 1
(2) 2
(3) 3
(4) 4
1[Option ID=11077]
2[Option ID=11078]

3[Option ID=11079]
4[Option ID=11080]

F=-11
(D TN
TN + FP
(II) TP+ TN

TP + FP + TN + FN
(III) TP
TP + FP

I _ TP
TP + FN
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The language recognized by the given finite automata is

Start
(1) {1,013 {0, 1%* (2) {oy{o, 13+
(3 {0,10,11}{0,1}* 4y f{o0,1}*

1) 1
(2) 2
3) 3
(4) 4

fom= witfafa smemzr (finite automata) gAT E=fieha w191 2

Start g f’-;:\, 2 __ ’ 0.1

(1) {1,001} {0,1}* (2) (o010, 11+

(3 {0,10,11}{0,1}* 4y f{o,11*

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11081]
2[Option ID=11082]

3[Option ID=11083]
4[Option ID=11084]
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Which of the following is/are informed search methods?

(A)
(B)
(C)
(D)
(E)

A* gearch

Recursive best-first search
Breadth-first search
Depth-first search

Bidirectional search

Choose the correct answer from the options given below :

(A) and (B)
(B) and (C)
(C) and (D)
(D) and (E)

fFrifea o @ %1 g4 (390S) @ (9<) faftr 81

(A)
(B)
(€)
(D)
(E)

A* @ (94)

e 9w - v @9 (F4)
959 - BE @A ()

3 - BE @i (F4)

fafeefta (amsermme) @ (&)

= fou o =i § 9 |99 Igw I = 999 Fifau

(1)

(4)
(1) 1
(2) 2
3) 3
(4) 4

Faa (A) 1 (B)
Faa (B) 3 (C)
e (C) 31T (D)
Fae (D) R (E)

1[Option ID=11085]
2[Option ID=11086]
3[Option ID=11087]
4[Option ID=11088]
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Which of the following are general types of parsers for grammars?

(A) Top-Down
(B) Bottom-up
(C) Universal

(D) Recursive
(E) Diagonal

Choose the most appropriate answer from the options given below :

(1) (A), (B), (C) only

(2) (A), (B), (D) only

(3) (B), (C), (D) only
) (

(4 (C). (D), (E) only

(1) 1

2) 2

(3) 3

(4) 4

Frsaferan & =Rl &g w2 ST % A e

(&) = (Fm-sr)

(B) 27— 39( Bottom-up)
(C)  OEYins

(D)  TFEd! (Recursive)

(E) fa=mt (Diagonal)

H= fou o foedi © @ HeE SIS S 1 =5 i
(1)  #a (A). (B). (C)
(2)  Fae (A). (B). (D)
(3)  F== (B). (C). (D)
(4)  Fa=(C). (D). (E)

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11089]
2[Option ID=11090]

3[Option ID=11091]
4[Option ID=11092]
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Given below are two statements : One iz labelled as Assertion A and the other is labelled as
Heason R.

Assertion (A): A finite automata can be represented graphically.

Reasons (R) : The nodes of the graph are its states, and edges are used for transitions.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 18 true but (R) is false

(4) (A) is not false but (R) is true

(1) 1
(2) 2
3) 3
(4) 4

i 21 #eA fam o 2 : v sAfeEEa (Assertion (A) F ¥ # faflaa 2 af g0 39% FWW (Reasons (R))
%EF'IH?T

W (A) T Uit SR aThiE ®9 § TR S qed g
FI0 (R) : T T STE FHAI FTEATE 7 WA & W FHRT I HHIA & AT AT I FHAT 2

IR o F A 4, 419 B T e § ¥ g 39T 39 1 95 it

(1) (A) 3R (R) 2 =& & 3 (R), (A) 1 &) = 2
(2)  (A) R (R) TA @@ &, A (R), (A) F 761 =men T2 2
(3) (A TH R, I R) T T &
(4) (M) = 7 R, @ (R) =6 2
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11093]
2[Option ID=11094]

3[Option ID=11095]
4[Option ID=11096]
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Given below are two statements : One iz labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A): If L1 and L2 are regular languages, then r1 o L2 and L1~ L2 are also
regular.
Reasons (R) : Regular languages follow closure properties.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(1) (A) is not correct but (R) is correct

1) 1
(2) 2
(3) 3
(4) 4

rﬁée}wﬁc{ﬂqﬁ:ﬁmﬁw(msemnnmn%mﬁ%ﬁaﬁ%ﬁa@uwi“Ew {Reasons (R)
#-"«:Fqﬁ:

g (A) qfg L1 ¥R L2 Fafmamd 8, @1 L1o L2 st L1~ L2 o FafE )
%1 (R) : Trafem . T=h et =1 s w2

ITE F24 & Few H, T4 Fu e e § 9 g9 30y IR w1 99 Fifen

(1) (A) 3R (R) 31 &¢1 § 3 (R), (A) F @t == &
(2)  (A) ¥ (R) 391 96 &, T (R), (A) Fit =&t =amen 76 2
(3) (A TA g, &fF (R) 76 76 &

(4) (A TH T g, 9 (R) 7 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11097]
2[Option ID=11098]

3[Option ID=11099]
4[Option ID=11100]




